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If the distance between the spheres is halved.
the net force : s Al Aiasa oS5 Caaill Ciaual Gpiiad G ALl 1)

A increase to double increase to 4 times decrease to half decrease to quarter
Caxaall ala 3 il &l 3y aaill o &-’J'U Jis

fohed kol 0502444731

If the charge of each sphere is halved Caaill Canual 400 568 daad JS 13
the electric force ? ¢ 4l 5eSUl 5 4l

increase to double increase to 4 times decrease to half decrease to quarter

A sl Sa g Silaazl g ) 133 Gl s | D sl Jas
fahed kamal 0502444731

+3 uC +9 uC
Sphere A Sphere B

- Fag

0502444731

Charging an Electroscope How can you charge an o o Sy S Al ) LK o
electroscope positively o oy S GLS
Using a negatively charged rod? Tl s 3l plasiial

By conduction charge Jically il By rubbing charge Al

By induction charge Sl By polarization charge syl sl

fahed kamal 0502444731
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Charging an Electroscope How can you charge an o oo iy caS P! S o
electroscope positively using a postively charged rga il plasial dogn iy il S BLAS
rod? Vil

By conduction charge By rubbing charge Al sl

By induction charge

By polarization charge  _ilayl oall

fahed kamal 0502444731

A negative charge of —2.0x107% C and a positive BOKI0™ 0 any sy —20%1074 € il 1z

charge of 8.0x107 C are separated by 0.30 m. fowiondd) oila oo 352)) 5o Lo 030 Mz gbaclis
What is the force between the two charges?

A 1.6x104N B -1.6x10*N : D -3.2N

fahed kamal 0502444731

A negative charge of —6.0x10 76 C exerts an b 353 Jis =6.0X1070 C a e 2l

attractive force of 65 N on a second charge that is 0050 M sy L s asb asd Lo 65 N Lo las
0.050 m away. What is the magnitude of the second Cal! &) jlans Lo
charge?

A 6X10-5C B 3X10-¢C | C -3X10°C | p 6X10°6C

fahed kamal @@ 0502444731

)

What is the charge of the sphere shown in the - |
figure after removing the grounding and then removing |
the positively charged rod? I

*-"g ) A Y e SN L e gl S Aiad e
k Qw.'l‘qa}.n}}‘]!ﬁ‘)'l?.ad.aajun

Gmund
11

A Positive | Negatwe,hl_ﬁu C Neutral.

0502444731
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What is the charge of the sphere shown in the
figure after removing the positively charged -
. : Yl Y aey JSAN 8 daim sall 3 KU diai L
2 - ‘
rod and then removing the grounding? il A1) 3 psal

A Positive Negative.

None

fahed kamal S TN 0502444731

Two identical positive charges exert a repulsive force A5 s Lpiay le gl oliblea plusga glind
of 64x10" N when separated by a distance of ol 3Lad) oS Losse 64X107 N Lalae
38%10™ m. Caloulate the charge of each. Loa S o o) 38XI070m Ly

A 32108 ¢ B 1.6X10%C | C 32X10°"Cc | D 16X10°°C

fahed kamal 0502444731

2
o)

The adjacent figure shows a A0 S And ) glaall JSEN jelay
negative charge attached to one Laiyp 48| Hla) 2al g Alaie s
end of the body While the other m ety ) 5 i lall )
end of the body is close to the d%;d'. o LS Al eS LIS e B
electroscope be this body? PRV BN FXVRIPWEN [P

Conductor oo 50 Insulator Jole

Simi conductor apngd All G le S
fahed kammal

0502444731

It is the direction in which a positive test S dos gall i) :\5_); olas)
charge o '

Electric current potential conventional current capacity
el Ll sl > aay) Ll sl

fohed kamal 0502444731
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Its can transform chemical energy to dﬂjﬁ‘} *—‘-‘hjﬂs ik g;“ "‘-‘-‘L‘A‘ﬁ' LA J-‘P” e}“
electrical energy. iy o) J€Sa] Lpaany - leha

A Ammeter Voltmeter galvanic cell D capacity

foched, kamal . 0502444731

A flow of charged particles is ool clin gl i

Electric current potential Resistor capacity
okl 2all s glaall ikl

e Kool

How much charge is on a 0.22 uF parallel plate sy g3 i b sl bl e L

capacitor f the plates are 12 cm apart and the elec- 12em o 4 i—t.J' ol 15 022 pF o il
trc field between them is 2400 N/ 12400 N/C Logey (30,081 Jnally

A|] 3.15X10+5C 6.33X10 -5C 6.33 X 10 +5C D| 3.15 X105 C
0502444731

Suppose that you apply an electric potential differ- o Sl g 4 ity ) St o

ence of 6.0 V across a 2.2 piF capacitor. What does e S ioe el izl b 22 10F $s e 60V
the magnitude of the net charge on one plate need to ke gl o ol b L2 i

be to increase the electric potential difference to S EJSL-'*‘SI sl gty mad g, e s.al

A 2 x10°C B 2 x10* C 6.71 X10-5C D| 6.71 X10+5C
252747525 o 2Ly

2B
which point the electric filedisthe =2 2.2 38 Lo L) sl 30 laie. )55 Ll 1
strongest? i § oS

D A

0502444731
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Which of the following statements is correct

in the closed circuits ?

W|@Q_Mﬁ15_ﬁlﬂlt;§@;aa‘;hm‘ggl

The amount of the charge and energy are conserved.

The electric charge is not conserved .
Alging pib A5l

The electric energy is not conserve .

fahed kamal

Which of the following wires allow 2“\_ Sl ded o) ) ai daua sall S (4a )

Nothing is true i S

UVZF 4L 3

to the highest current to pass A kSl
A
A 1 B 2 C 3 D 4

fahed kamal '_/ 0502444731

A 6.0-V battery delivers a 0.50-A current to an
electric motor connected across its terminals.
A. What power is delivered to the motor?

B. If the motor runs for 5.0 min, how much electric
energy is delivered?

1 T8 115 e 0 1me 00V g 2l 5 iy A0y 1 3
050 A

8l ) ol 5,020 Lo 2
S il sl S Ul i iy oS 5.0 MiN s ol s 515 0

A 12W,900J B | 3W.300J C| 15W,3J D! 3W,900J
fahed kamal 0502444731
®
What is the current through a 75 W lightbulb that is Jata TOW 6138 tloas e o gill il 5
connectedtoa 125V outlet? NV s s oy ol s
Al 16A B 0.6 A & 3.2A D 12A

terminals of a 125 V outlet is 0.50 A. At what rate does
the bulb transform electrical energy to light? (Assume
100 percent efficiency,)

—foedU Keomold JDUAH-H-’-I-i |ii
The current through a lightbulb connected across the e

S tloas pe o 050 A g b S s
oxg> 113 73 sbigS guies adb ye Juats
S Bl tload) fig>s Jasa sa Lo 52 125V
) (100% g.a aeladl! A \J" Ua;.j‘) Q‘Bm UJ!

250 W 125 W

62.5W D| 1238W

fahed kamal
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Dslaal) gl b Uasll g L

fahed kamal
(A
What is the mistake in the 2V
figure
£+ 12V s 4A®
T_

A | connecting voltmeter only

connecting Voltmeter and Ammeter

C  connecting Ammeter only

not mistake

fahed kamal 0502444731
Which of the following wires has iy XN g )
the highest resistance? ¢ A ia et
A 1 B D 4
fahed kamal 0502444731

Refer to Figure 22 to answer the following questions.

What should the ammeter reading be? .
What should the voltmeter reading be? 7
How much energy is delivered to the resistor

per hour?

g @

adld) bl e alsdU 22 YKL oo,
$ia¥l jlea e elas o) e 3 Eelal) Lo

$rietloall slam le s o came 2 801,300 La

Saelul) b asladd) ) s al) 23Ua)) laza Lo

A 3A,27V,29x10°J | B | 3A,9V,29X105

J

C| 27A,9V,29X10%J

D 3A,27V,81J

By which of the following devices you can
control the curret in the circuit?

0502444731

¢ Ll ks WSatl ki AR (e 53 lgall and

A Voltmeter B Ammeter

Capacitor

Lot fo e =2 =) -
AV ST T T L

potential meter D

e Kaal

How should a volometer be connected in Figure 19 to
measure the motor’s voktage!

Ak

N

Gl agdl 32 il sl Juog oy S
80,41 aalgd Lol 19 MF‘}(M;‘JI]

|

9 L%
i s

A | Series with motor B | parallel with motor

[ Series with battery

D | parallel with battery

fahed kamal
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An electron in an old television picture tube passes ke 4> 38 P wid ypals ‘_,9_._,3 o ey
through a potential difference of 18,000 V. How much T ey il Laadl .

14 L, 18000V
work is done on the electron as it passes through that o3 0N e dybe) ol

K . ¢
potential difference? s syl 3,8 U5 090

Al29x10 15 J 29X1019J 1.2X1022 J D 1.2X10 -2
fahed kamal 0502444731

The electric field in a particle accelerator has a 4510 Jasa d o g)lase ;3 il gl Jlond)
magnitude of 4.5X10° N/C. How much workis done to 25 €M ailaso gig,0 2l ol Syl Jidd Jaza Lo N/C
move a proton 25 cm through that field? ¢ ! i JYs

Al18X101" J 1.8X 1016 J 1.8X 107 J 1.8X 104 J
fahed kamal 0502444731

Whatisthe magnitude of the clecticfieldbetween == | av=sooxiory  cisieall G le) dadl sl
the two plates

A 20 X103N/C 20 X103 N/C 5X103N/C 5X 103 N/C
fahed koaumal . 0502444731

When you apply a potential difference of 125 V
between two parallel plates, the field between them is
4.25x103 N/C. How far apart are the plates?

oriasls i (o 125V i agadl 33 ks Lo
obla aag oS 4.25x10° N/C b pgie Jlonadl s lone
Soandl Ly e plinal

A 15..28 mm B D 41.3 mm
fahed kamal 0502444731

Which of the following is the correct =l al ERER T
definition of (volt)? (Sbll) Haylesaidill el ¢l

A| 1V =1N/1C. 1V = 1j/1C. 1V = 1C/1F. D|1V = 1C/1N.

fahed kamal 0502444731
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A negative test charge of ( 5xC) is 13 aslsS 5 S B addla jladl daal
placed in an electric field, the Sl 535l 54l cals

electric field exerts a force on it

Dl al N L sl

as shown in the figure, what is the > o .
’ g - Wil aaa 5 diall e 8l Sl eS|
magnitude and the direction of F=2x1073N el oo Ul (Al e

the electic field at that point ?

A 4.0 X 10°N/C Left 3.0 x 102N/C  Right s

C (20X 10°N/C Left 4.0 x 102N/C  Right

fahed kamal 0502444731

what is the electric field at point “p” that is P ki) vie teS Jlaall olasl 5 ke La

2.0 m from a point ; € —4.0 uC si e 2.0 mass &
charge of —4.0 uC? °

A | L7X107*N C Left 21%x10°3 N/C 4.2 x 103 N/C Right 9.0 x 103 N/C
Dy Right Cra Oa Left b

fahed kamal 0502444731

How far from a point charge of g 5.0 X 1076C e i daa
5.0 x 107®C must a test charge be e (35S Cuny Al oda e Al 2a5 oS
placed in order to measure a fild ¢ 500 N/C Waic Jlsall
magnitude of 500 N/C ?

1.6m
0502444731

ELECTRIC HEAT A heater has  resstance of 100 0. t operates on 1200V, e 200V s oy 1000 il i Pl il
bl 505 @

i ?
2. What s the power of the heater? 100 5 il 2 2,0 B0

b. What thermal energy is supplied by the heaterin 100 §?

A | 1440 W, 14400 J B | 1440W, 144 J 144 W , 14400 J D 14400 W, 140 J

0502444731
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h

A 39 (Y resistor is connected across a 45 V battery. A5V ipylhy Joga 39 e

a. What is the current in the circuit? Vsl S0 8 Sl (9 gl 3b g3 Ll sadi s 2

b. How much energy is used by the resistor in 5.0 min? BOMIN b pala 9 zessind! BB e L b

A 08A,162X10%J B 12A,162X10%J 12A,162X10°% | D|8A,162X10* J
fahed kamal 0502444731

Three charged spheres are located at the positions shown in the dadll uie 5 gl dlasa T*

Figure below. Find the total force on sphere A.
J - }T.s ,ucl | ~8.2 uC
¥ “ W

40cm——— B

0502444731

Three point charges are located as shown in the figure below, Find

P u.‘_g‘y'l il die 5 gall Aliasa Cuaal

the net electrostatic force on point charge one and two «
4Ll 5

1= —55 uC gz=+4+45 uC g3= —78 uC

05024447531
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A 15 Q electric heater operates on a 120 V outlet. cbyeS islo yle 15 0 wioglive 1o b4 olsw Jons
) 120V

a. What is the current through the heater?
bad) e L) La) 334 L .a

i ' ?
b. How much energy is used by the heater in 30.0 7 byl 1 8 5,55 ) o) 3l e oS

¢. How much thermal energy is liberated in this time?

0502444731

A100.0 W lightbulb is 22 percent efficient. This means liag &Ll 2 22 3.laS Joss 100.0 W 3,038 plons

that 22 percent of the electrical energy is transformed I a5, BBl (e L) 3 22 Jssos pi @) i

to radiant energy. Apelad) a5l

a. How many joules does.the Iightpulb transform into Rl ﬂ%ﬁ;ﬁﬁ%:mzfz :j .
radiant energy each minute it is in operation? ® 03 zlomall Ly L)) dpyl,oul 23LLJ) 155 b

b. How many joules of thermal energy does the “ T SJexd) Basgs Amds
lightbulb output each minute?

0502444731

The resistance of an electric stove element at irys b Pl gl b st i daglin ¢ls

operating temperature is 11 €. @ N Q Y 5)) >
If 220 V are applied across it, what is the current % dud L8 o e 0 220V o jlans ags olS 13) @

through the stove element? S pare e L La!

How much energy does the element transform to Al sl Lpdgsu 2 asb 91 alall 3L5 oS Wb
thermal energy in 30.0 s? 93005 s &) > dl

GOOD LUCK

0502444731
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